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AFHBORFERPY108 & 27 23 pagiF o K g&é;ﬁtﬁrﬁgﬁsﬁg‘%%%ﬁ
TR E(A) S B2 OER R EB)E A REE HhEEC)E 3 HE
Pl P & 7k ~pH-DO~BODs~COD~SS~ B A ~ 5/ A ~ * 5 53
BHESRE ~FF RN 3G ZEF EE R IR T2 B
B - ) A TAEE Wy -8~ £ 4 8KCu~Hg~Pb~2Zn-
Cd Ni~Cr)~As & » ERMEF 2+ F- o AELRIHEZLH -7 K2 AR
2 LRGSR BORRRTRE o EORS R4 6 2 B 28~ 53 -

306 BREAEKTERSS REA

- (A1
B =k i
b ) A A Ax B B B C: C. Cx LAY
(3 =) 3
pH 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2 |7.5~85
K (C) 29.2 28.7 28.3 29.2 28.8 28.4 29.2 28.6 28.3 —
%% £ (mg/L) 5.9 5.6 5.5 5.7 5.5 5.4 5.7 5.6 54 | >5.0
& % 42 (mg/L) 10.0 9.6 5.0 7.2 8.6 4.8 7.6 5.7 8.2 —
A & (psu) 33.6 33.7 33.7 33.7 33.7 33.8 33.7 33.7 33.8 —
& ﬂg & (m) 14 - - 15 - - 1.6 - - —
4 v 75 F(mg/L) <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <10 | <3.0
¥ ; £ (mg/L) 5.7 75 6.8 7.3 6.6 6.9 7.3 7.5 6.7 —
& % (mg/L) 0.015 | 0.015 | 0.015 | 0.015 | 0.014 | 0.015 | 0.014 | 0.017 | 0.015 —
%% (mg/L) 0.31 0.41 0.39 0.26 0.77 0.46 0.37 0.36 0.48 —
% ¥ (mg/L) 0.07 0.06 0.05 0.07 0.08 0.16 0.16 0.09 0.06 —
e § (mg/l) <0.50 | <0.50 | <0.50 | 0.26 0.74 | <0.50 | <0.50 | <0.50 | <0.50 —
A i @ (mg/L) N.D. | <022 | <0.22 | ND. | <022 | ND. | ND. | ND. | ND. | —
I A ps B (mg/L) N.D. N.D. N.D. 0.04 0.04 0.04 0.04 0.04 0.04 —
# #5(mg/L) <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 2
% f (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.01
%5 & FF(CFU/M00mL) | <10 <10 <10 <10 <10 <10 <10 <10 <10 —
&1 (mg/L) <0.0020|<0.0020|<0.0020|<0.0020{<0.0020|<0.0020{<0.0020|<0.0020|<0.0020| 0.05
4§ (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.005
44 (mg/L) <0.0050|<0.0050{<0.0050|<0.0050{<0.0050|<0.0050|<0.0050|<0.0050| <0.005 | 0.05
A& (mg/L) <0.0010| N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. | 0.001
4 (mg/L) 0.0016 | 0.0020 | 0.0018 | 0.0026 | 0.0020 | 0.0019 | 0.0029 | 0.0024 | 0.0024 | 0.03
44 (mg/L) <0.0010|<0.0010{<0.0010|<0.0010{<0.0010{<0.0010|{<0.0010{<0.0010|<0.0010| —
45(mg/L) N.D. N.D. N.D. [<0.0010| N.D. N.D. | 0.0010 | N.D. [<0.0010| 0.1
#(mg/L) 0.0098 | ND | 0.0091 | 0.0121 | 0.0092 | 0.0098 | 0.0143 | 0.0126 | 0.0129 | 0.5
7 % (ma/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. —
I % % (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
i#£ 5 $(mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
o . | = i (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
BB o i(mg/ll) | N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
& 214> (mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
- F¥>(mg/L) N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. N.D. 0.1
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